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1. FRAEZAE FIE R JTFEA v = 0.0466x + 0.0675;  x AR S E (ug/mL), v AWGIE.
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AR & (ng/mL) =[(A-0.0675)+0.0466 X V1]+ (V3XV1+V2) =214.6X (A-0.0675)

3. EMEEIREE

TIEARZ & & (ug/mgprot) =[(A-0.0675)=0.0466 X V1]=-(V1 X Cpr)=21.46 X (A-0.0675) = Cpr

4, HZIEFE R

TR &8 (ug/g B = [(A-0.0675)+0.0466 X V1] (W XV1-+V2) =21.46 X (A-0.0675) ~W
3. IR I A B A B R B

FIEARR & & (1 g/104 cell) =[(A-0.0675)~0.0466 X V1]+ (500X V1-+V2) =0.043 X (A-0.0675)
V1: DN RHPFEAMEL, 0.075mL; V2: IIASREURAARL, 1mLs v3: JIAILE (R
WAL, 0.1mL:  Cpr: FEAREABUKE, mg/mL; W: FEAJGEL, g: 500: 4 BAHAEEL
500 Ji.
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1. FrAEZAME T IERIAJTREN y = 0.0233x +0.0675;  x AR S E (ug/mL), v AL
fE.

2. RIS R ARHE

WEARR & (ng/mL) =[(A-0.0675)+0.0233 X V1]+ (V3XV1+V2) =429.2 X (A-0.0675)

3. EEEEIREE

PIEARZ & & (1 g/mgprot) =[(A-0.0675)=-0.0233 X V1]=-(V1 X Cpr)=42.92 X (A-0.0675) = Cpr
4, HZIEFEG R

TR &8 (ug/g #E) = [(A-0.0675)+0.0233 X V1] (W XV1-V2) =42.92 X (A-0.0675) ~W
3. IR I A B B R B

FIEARR & & (1 g/104 cell) =[(A-0.0675)+0.0233 XV1]+ (500X V1--V2) =0.086X (A-0.0675)
V1: DA RHPFEAMEL, 0.075mL; V2: IIASREURAARL, 1mLs v3: JIAILE ()
WAL, 0.1mL;  Cpr: FEARMEABUKE, mg/mL; W: FEAJGAL, g 500: 4R BAHAREEL
500 Ji.
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